B =

BZ=A=+—HILEE
—EE—F —EE=F —ETNF —ETREF —EBEXRE
FHBT FETT FHETT FABT FET
(&=7)
- 10,963 3,424 5,766 10,113 15,208
gga T (E518) 2,234 (4,946) (4,910) (346) 4,730
B 75 & A = — - (43) -
FEAGEE DRl A 3,801 651 (485) 441 1,805
U % — RS B 2 A A
FREERE 2 # (107) 214) (76) (90) -
BB E R (E5E) 5,928 (4,509) (5,471) (38) 6,535
g i (1,072) (17) (191) (45) (52)
FERF (EE) 4,856 (4,526) (5,662) (83) 6,483
DB R = = = 77) (544) (2,128)
RRARREREE A
FE{E & (E518) 4,856 (4,526) (5,739) 627) 4,355
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EEREHE

R=BA=+—H
—ET_F —TET=F —ZETNEF —ZETHF ZEBARF
FHT FAT FAT FHET FERT
(re&E5)

EMBEE 104,156 110,370 153,935 151,345 160,416

MEEEFE 90,292 79,551 61,947 64,461 68,627
EMBAE - = - = (1,904)

194,448 189,921 215,882 215,806 227,139

RRES 194,447 189,920 203,653 203,027 213,413

DERFER 1 1 12,229 12,779 13,726

194,448 189,921 215,882 215,806 227,139

Wet: 2T —ZZE=FR_ZINF2HFIEABRARMM B HRIT2TM 2 5T BEE S -
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